MEI Core 1 Surds Questions Jan 05 - May 09

1 Simplify (3+v2)(3-+2).

Express %25 in the form a + b2, where a and b are rational. (5]
o () Simplify v24 ++6. 2]
(ii) Express = in the form a +bv7, where a and b are integers [3]

e 0 * -

3 (i) Simplify 5J8 +450. Express your answer in the form avb, where a and b are integers and

b is as small as possible. [2]
(ii) Express e L in the form p+ q\G. where p and ¢ are rational. (3]
—
4 () Simplify 6v2x5vV3-+/24. [2]
(ii) Express (2- 3+/5)2 in the form a+ bv/S, where a and b are integers. (3]

9-17 9+417
= and c¢=

4 2 . Show that a + b + ¢ = abc. (4]

5 You are given that a = % b
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6 (i) Simplify V98 —+/50.

(i) Express 6\"5. in the form a+ b\«"S, where a and b are integers.

245

7 (i) Write V48 + v/3 in the form avb, where a and b are integers and b is as small as possible.

1 1
if) Simpli :
( )S'mp'fy5+x/i+s-\/i

a+bV3

1
8 (i) Express 5 in the form

+vV3

(i) Expand and simplify (3 - 2v7)’.

9 (i) Express v75 + /48 in the form av/3.

(ii) Express 3 1

;.m&

10 (@) Simplify -21/‘7—4_—-587_

2

(i) Expand and simplify (5 - 3v2)

, Wwhere a, b and c are integers.

in the form b + cVd.

(2]

(3]

(2]

(3]

(2]

(3]

(2]

(3]

(2]

(3]



